=
o
>

jet / dm_3jet [pb/GeV]
|_\
o

do 3
|_\
<

10

Ratio to DO
[N

0.5

m_3jet [GeV]

1960 GeV ppbar Jets
[T T T I T I I T I T T I T I T I I T ]
B | | | I_ %
| Three-jet mass (D0 P, >70GeV,ly|<24) 1z
= | ==
— — N
- o
B A
B Bl=)
—
= =
— =)
~ 1o
— 1=
— -
B il
™
<
- — 1™
= 3
— | DO ] O‘_f|)
~  —&— Pythia 8.308 default B E
---¥-- Pythia 8.308 tune-AU2 =
= - - Pythia 8.308 tune-AU2lox EE
— - Pythia 8.308 tune-AU2loxx <
| —— Pythia 8.308 tune-AU2m 1 _ 8
)
— g §
— — O
— 12
= . HE
— ' =
— -2
1
L —0.5
1 L | L 1 1 L 1 1 L | L 1 L 1 L 1 1 L |
500 1000 1500



	Contents
	Page 1


